VSAHA

1.

3.

PART A

Choose the word which is least like the
other words in the group. .

(1)
(2)
(3)
(4)

Parrot
Bat
Sparrow

Pigeon

Read the information given below and
answer the question.

A + B means A is the daughter of B

A — B means A is the husband of B

A x B means A is the brother of B

Then which of the following is true about
P+QxR7?

(1) PisthenieceofR .

(2) Pis the daughter of R
(3) Pis the cousin of R
(4) Pisthe daughter—iﬁ-law of R

Lakshmi walks 3 km East and turns
South and walks 4 km. Again she turns
West and walks 6 km, How far is she from

the starting point ?
(1) 7km
(2) 6km
(3) 5km
(4) 3km

(4)
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4.

~diagrams.

@,

Here are few different types of Venn
Which of the following

diagrams correctly represents the given
statement ?

Statement :
There are teachers, graduates and players
in a family and all these are partly related
to each other.

(1)

(2)

(3)

(4)

(@0

Select the correct answer from the given
options, which would continue the series.
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6.

@

If the number 636xy is divisible by 90
then the possible value of (x + y) =

(1 2
(2) 38
(3) ,14
@) 6

Find the s-um uf
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(2)
(3)

(4)

A and B can do a piece of work in 30 days,
while B and C can do the same work in
24 days and C and A in 20 days. They all
worked together for 10 days and then B
and C left. How many days more will A
take to finish the work ?

18 days
24 days
30 days
36 days

(1)
(2)
(3

(6)
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(1) 3
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(1)
(2)
(3)
(4)

. The wheel of

an engine is 7—;— metres

radius and it makes 7 revolutions in

6 seconds. The speed of
the i i
kmph is i

130
198
135
150

10. The following pie-chart shows the
percentage of Literate and Illiterate Males
and Females in a city : '

Literate
Females

Illiterate
Females

Literate
Males

[lliterate
Males :

What is thé difference between the

number

Females, if the total population is
9,000
9,090
90,000
1,600

of Literate Males and Literate :
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11. The present Executive Chairman of the|1l. &dalh TOH 5O 0G0 (695
National Legal Services Authority is L3S S

(1) Ranganath Mighra @ ot 5 @

(2) AKX Sikri

(2) 2.3. 28
(3) S.A. Bobde
' | @ 5.2 8
(4) A.S. Anand

4) 2.I0. eadod

12. The first Lokpal of India was =" 12. (&858 GE 303 &6
(1) P.K. Mohanty (1) .93 Jwarod

(2) LP.Gautam (2) 2.5 8D
(3) D.K.Jain (3) &3. @5

e 5.3, W

(4) P.C.Ghose
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15.

16.

(8}

who visited India in last
week of June 2019 is the

(1) Secretary of State, United States

{2;‘ Pﬁme Mlnister ﬂfJapan

(3) President of Indonesia

(4) President of China

Recently, AADHAR Service Centre was
opened in this city in Andhra Pradesh for
the first time under the management of

UIDAL
(1) Tirupati
(2) Guntur
(3) Vijayawada

(4) Nellore

“The develo.pment' of full Artificial

‘Intelligence ‘¢an spell the end of the

human race,” This is the opinion of
Sundar Pichai

(2) Satya Nadella
(3) Sﬁphen Hawking

(4) Bill Gates

(9)
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VSAHA
17. An example of vector quantity is
. A1
(2)

(3)

(4)

Time
Energy
Speed

Acceleration

18. Identify the menrrect statement{s] from

the followi ing:

A.  Solar power systems do not require
much maintenance,
¥
B. Solar energy is not likely to run out
_in the near future.
C. The installation of solar systems is
expensive.
: D ~ Solar power systems requlre much
maintenance.
(1) OnlyD
(2) OnlyAand B
(3) OnlyA,BandC
(4) A,B,CandD
19, Iﬁ.plantS, downy mildew disease is caused

by’
(1)
(2)
@
(4)

Virus
i Fungus
Protozoans

Bacteria l
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90, WHO, in its catalogue of diseases and

21.

injuries, recognised ‘burn out’ medical
condition as the result of

(1)
(2)
@)
(4)

Chronic workplace stress
Indigestion state
Long-time use of gadgets

Lack of exercise

The Congress Party appointed a

‘three-member committee to consider the

recommendations of Dhar Commission.
The names of the members of the

Committee are

Jawaharlal Nehru, Vallabhbhai

(1) :
Patel and Pattabhi Sitaramayya

Bal Gangadhar Tilak, Gopal Krishna
Gokhale and Lala Lajpat Rai

(2)

VV. Giri, N. Sanjiva Reddy and
P.V. Narasimha Rao |
Durgabai Deshmukh, N.G. Ranga
and Dronamraju Satyanarayana

(3)

(4)

" Andhra Mahila Sabha was established by

(1) Kittur Chennamma
(2)

(3)

Aruna Asaf Ali
Durgabai Deshmukh

(11)

20. WHO o wptho

21.

(4) Sarojini Naidu

A8

[(A]

S8odkn  Tralro
D&’ ‘wb) TS D B 0o S5S

BS55 28 @ HYoDod
B BEso5 HAHBEY e86
2) off 8
3) bgseo g TELo
(4) a0 JESe0

6 S8 PSo0d $5030oBERS
Sorysol Hgoge 5l SRS Y
DAHDON0D. Ba ENeIG Sedge 20
wsbord e, SgPerod 366
SO0K BETH DT T 0y

O ﬁun‘jf;SE o8, aro B Fad
SoBay v oNdorad

(1)

e

.. A8, 5. HodSBG SO
2.9, G305 o7

(3)

Eorerad B0, J0.8. o
5080k (SroTrer SEFPTTade

(4)

22, eso[g Soirw HgIo ToDSITD

(1) 3earth B3
encier oD @d
&oorerad BES0f

5620 Tratues

(2)

(4)



VSAHA

23. Match the following correctly with respect
to books and authors :

24,

(1)

(2)

(3)

(4)

Authors

Gurajada Appa

Rao

Chilakamarti
Lakshmi

Narasimham

Buchibabu

P.V. Narasimha

Rao

A B-ii

A-iv B-iii
Al B-

A-iii  B-i

1.

il.

ii.

iv.

C-1ii

C-ii

C-iv

(12)

Books

Sahasra
Phan

Chivaraku
Migiledi

Hemalatha

Mutyala
Saralu

D-iv
D-i

D-iii -

D-iv .

Pattiseema is located on the banks of

(1)

0@

(3)

e (4)

Tungabhadra River

Penna River

Krishna River

Godavari River -
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ySAHA
g6- Consider the following statements :

A.

B.

C.

, The rule of Delhi Sultanate was

(13)

founded in 1206

CE. by

Qutubuddin-Aibak.

Ibrahim Lodi was the first sultan of
Lodi dynasty.

The age of Imperial Mughals was
1526 - 1707 C.E.

Identify the correct statement(s) from the
above.

(1)
(2)
(3)
(4)

Both A and C
Only B
Both Aand B

Both Band C

The following two Acts were enacted for
bringing more transparency in Judicial
appointments in India :

(1)

(2)
@

The ggth Constitutional
(Amendment) Act, 2014 and The
National Judicial Appointments
Commission Act, 2014

The ggth Constitutional
" (Amendment) Act, 2015 and The
National Judicial Appointments
Commission Act, 2015 .
The iﬂﬂm Constitutional
(Amendment) Act, 92016 and The
National Judicial Appointments
Commission Act, 2016
The ge'h Constitutional

(Amendment) Act, ‘2013 and The
National Judicial ~Appointments
Commission Act, 2013

A,

C.
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27. The 85" Constitutional
Act, 2001 was meant

y (1)
(2)
(3)

(4)

(1)
(2)
(3)

@

Indian Parliament comprises

IDéputy Chairman of Rajya Sabha
‘The

(14)
27, 85 5 CoEPN B3 B340, 2001

(Amendment)

For the promotions of government
servants belonging to the Scheduled
Castes and Scheduled Tribes

For the promotions of government
servants belonging to the Backward
Classes

For the development of government
servants belonging to the poor
families

To provide facilities to government
servants belonging to the physically
differently abled persons

The President of Indiﬁ, The Pl'il.:IJ'E 28'_

Minister and the Vice-President, -

The President of India and the

members of ok Sabha and Rajya
Sabha

The Speaker of Lok Sabha and

?resident of India,
B_PEE:-]REI' of Lok Sabha and the
Chairman of Rajya Sabhg
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(15) ‘Al
g9, Identify the right
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following statements - ;
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Eleventh Schedule of the Indian /cm oeroro ST . | wEreSs’
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- .(3) Eleventh Schedule of the Indian (3) Carolio JEFE ErS D
- Constitution deals with urban local
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33. “Boelal justion implies equal access to
liberties, rights and opportunities as well

(2
3
(4]

34. “Society is & web of social relationshipe.”
This was stated by

Maclver
Max Muller
Ermnest Barker
Jehn Locke
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Match the following correctly -
A Social i John Locke
Contract
Theary
B, Social i  Hegel Green
Organismic
Theory
C. GroupMind i Herberl
Theary Spengar, Kurt
Gualdstein
0. Two i, Thomas
‘Treatises on Hobbes, Adam
Civil Smith
Government
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8. The fellowing, being the . result of
weathering of the granites, are foand in
many parts of Andhrs Pradesh :

(1) Fossils

) Tors

(3] Crystals

B7. This is abio koown sa the Great Indian
Desari.
(1) Polar Desert
(2) Tropical Desert
{31 Temperate Desert

(17}
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118)

3. Barch,
are e el somi-cireular snnd dumses
B i this region of Inda,
n Jalsalmer

2y Bhongi,
3 Gt
W m“ vll.lq

Dalphin Nose in v
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1) Wave Sheey

Wave Refraction
Sea-clift
Corrosion

(2)
&1

14}

The symbols used in the Indian
Daily
wuhﬂmtmiwmhlmh

1 mwmhu

{2} International Meteorslogical
Organisation

@ Mnm.lmm
Organisation
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(4} World Climata Orgaaisution

W 36 P opaag

[E]  wsaHa
j;l,_;l. The Janani Suraksha Yejann Scheme and

the Sukhibhava Scheme are spansored by

the
(1) State Government
{2} Central Government
(@) Non- Governmental Organisatices

(4) Both Cettal and State Governments

process  of change in  ihe

socic-economic statius of the beneficiary

househelds is due to the Peowerty
Alleviation Programmes (PAFs),

A s false but 1 is true
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SBote A R 225 D3n
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= R A0S 2500
@ Ais true but K is false
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43. Intemational Development Association
assisted Iategrated Child A
Services (ICDS) systems strengthening
and - nutrition  project  is  being
implemented in Andhra p,““hm

(1} 10 districts
{2) 7 districts
{30 11 districes

4) 4 districts

Better financial management of the

Health Departments can be achieved by

the following :

A Assel Management

B.  Inventory and Supply

C. Enhancement  of
Facilities

Choose the correct answer,

1y OnlyA

{21 Only Aand B

(3) Only Band C

M) A BandC

Employees

Redevelopment netivity can be classified | 45
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46. Choose the part Inbelled as &, B, C, D that| 48, mhmqumhhlhdnl’.
haa an ervor. q.l,smmm:mﬂﬂ!ﬂ“'"'-
When Joy had { finished his dinser one of the / the Amazon is /

LAY (H : i L4
he sit dewn f bo watch a film, Jenigest J rivers in the world
cy o i3] 8}
(1 RSQP
A
y (2 QSFR
" A QPRS
' [+ {41 QPSR
D
I 49, Harry ia fond classical music.
Minmummmuumm
A with
. Aniket is not s shy s his brother. (2 on
Chooss the comparstive degree for the (3 for
above sentence. ;{:“ of
{1)  Aniket is shyer than his brother.
B0, My friend is singing a song.
Cheose the suitable passive veice form of
brother is shyer than Aniket.
e the abave senlence.
{3)  His brother is less shy than Aniket. {1) A song is being sting by my friend.
(2 A song is sung by my friend.
" e e ha, AB) A song is being singing by my friend
4} A song is sang by my friend.
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PARTHR

$1. The study of blood vessels is eafled

(1) Outeclogy
@ Myolegy
31 Splanchaslogy
4} Angiology

An examplo of a bong bore iy
(1) Femur
@ Seapula
@) Vertebea
) Fromtal

Inaulin is produced by

1) Hidney

(2} Spleen

3 Panereas

{4} Pitalinry gland
The List used for estimation of glucose in
urine is

(1) Todine Test

21 HBenedict's Test
(3) Fothera's Test
(4} Tuberculin Test

Wet Blood Examination is
detethon of e o
(1) Tubsroulosis

(2 Trypanasomissis
@) Mustitia |
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g, In sheep aml goats, bleod sample is
pollected from

(1) Jugular vein
12 Jugalar artery
3 Femorsl veln
(4} Femoral artery

B7. The hormene released from the ovary is
1} AAnsulin

Which of the following indicates
seattering  of chicks, unifermly, in
brecding area T

{1} "The brooder tenperature is kw

(2] The brooder temperature is high
(3] ‘The brooder temperature is normal
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80. The feed consumed by a broiler to got[60. ool 82 e85 drnoDi o0 B8 gy Which of the following is the best method|ge. BB oo bod 35es’ DO 200D BZ0

o kg live weight will be around o) " afhand milking 7 a1 Sjek

™ ) 438 $ :::L:' A s

2 3Skg o 3686 ") Wat milkiog 2248 Dby e

- Ak 1w o 4) Full hand milking ) Bf b :hhgrﬂ'"i

) ke ! oo

24 \ Rott erd eged’ Tt HO5
% = g5 The m“lpd.lﬂuhlqilu
[l erosabred cows is mﬁ

1. The lighting period sod por day| " oy B Bom Ber Job Sestioth ) 24- 2 menths i 24 -8 3o

for layers is W . (@ 8z-85months (T 22-3530m

(1) 24 bours A 24 Motse | m 38 - 40 months (3 38 -40 2o

12 16 hoars {2y 16 Moten : 42 =45 months {4y AZ - 45 Joco

@ 12hours W Miohm toal Institute of Research oa Gosts fa[88. Soders ute 308'63 Sogio 25,8 &30

) 8 hours N DR ated 1t W edwws
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B2 The reason for laying thin shelled egga in| (1) Mn@umm Hissar

poultry is ) LErh

Low calcium in rations
Higgh ealelum i ratioas

Low atmospheric temperature
High vitamén I in rations

(3 1)
(4:4]
L
)

The highest milk preducing esttle breed ia
the world s

(1) Jersey

121 Holstein-Priesian
%) Brown Swis
{4)  Red Dene
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. Which of the iy EAHA z
' following is a high yielding|gs, - g3 : 1279 .
0 B 3 grito - g WPbich of the following vitamin is rch in24, il o8 Sy am dod 008
Lp BV
2] Para Grass w AdS (U Vitamin E z;!aumsg
3} Lucerne @ >ong @ ViaminD /A S8 D
4} Hybrid Napier e O} Vilamink W SeLS K
BE Abanb
0. Eﬂmmmﬂhmwﬂm o ﬁ' | ) Viamin A M1 DS A
(1 1s% 45 1 i 75 Db Deud doll Srodo DoEtioand D
2 20% o Which of thedfillowing dders s more|  qrarod ecosros
P 2 25% suitable for cultivatien in walerlogging
g I s0% P 1 AesdE
4] 4.5m W 4s% (1} . Maizg A. o i
1. The major breeding season for buffatoes is | 1 A3’ tupus blok sedy 2021 Para Grass [
(1)  Spring season [$1] mm_ Bajra M‘wm
(2} Summer season @ 330 sedy 41 Hybrid Napier
3} Rainy season L T 76 50 Mol ooddor eoes b
(4)  Winter season @ do poxv 8. How much concentrate mixture fs gven|  DO® O 4501 Jo6 D o
=

72 Weaning is practised in sheep and goats
nt the age of

(1) 30 days
2} 80 days
3 BOdays
(4] 150 days

78. The time and temperature used in . 73.. HTST : Jad |
o HTST ppdase A |

(1) 63°C for 18 seconds
(2} 70 for 18 peccinds
(4} 52°C for 30 seconds
(4)  100°C for 15 seconds

e :
(1 30 Eeren
(2) 60 Beeen
T 90 Bleren
w1608

(2085) 20am 3,38 socd
() 63°C 18 nEses
£ e s vise
(@) 92°C 30 ten

() 100°C 15 hitdhey

2. Fes dobois Latied® 57 ool o
E |

. for every one liter of cow milk over and
- abewo the maintenance 7
() Dakg
2 10kg
J l~u1 18 kg
| 4] 20ke
i
T7. Which of the following is an example of
small gize dog breed 7
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VSAHA .
T8 Which 129) E‘.ll yEAHA 129)
of the )
m,rwm’h““hl? dog breed is[78. o8 RS ba 352 whrﬁmwﬂmmmwu-mmamwﬁ
(1) Bulldeg b g . Soola
@ B n wfok e e W gl
3) Dalmatian il oo & oot @ eenS
4)  Greyhound 3) crEianS @ A @ Hodss
) frol | (4 TR
8. Which of the following is the National pi. Which of the following is.a Haemostyptic -
Animal of India 7 ) " =4 mmmm g ¥ B4, O Eriio DTG0 Soods
) Mg b *;'& {1} Atropine 1) eThS
12} Lion - (@ Meloxeam m olrh
i B il ) Sk
13)  Elephant @ N 3 ) i
W Chasth W oo 4 doeas
—dmm“mﬁ il oo Hetd
B0. The normal body temperature of a goatis (g0, Ssmof® ereics 300 A0 i ooz .
i flsioid in 10rF Ry
2} SEF o gpo
::: ::-:'F af 107F ; (@ S
@ e N ) Statrder
81 Sudden death in sheep’is a common gy ety Swico Fios® D agd ofndi length of gestation period insows s | gg,  Sofoed® Sro Foe Jod p
— o k ; (0 270 Berco
(1) Anthrax AN soEh .
i2) Babesiosis (2 DOnawhh @ m"'-" (20 300 Eere - 2 i
(3 Foot and Mouth disease #  mithols yd m :u:z AT 180 Beren
(4} Brocellsis W Eenghh : W 146w
BT, - Tha temperature of liquid nitrogen for tho g B fPus Sy Dol dodsdsds od
g2, Wooden Tonge in Bullocks is caused by |82 wﬂmmmm storagy of semen sraws i % g M.- e i)
(1) Actinomyensis ) St —186°C m' -IH'C:I ; o
o lhouln g e - 200C 8l -0
(3} Brocellosis @ prasnn 117 _,131’ 2 i
R aathone W oy 8y -s10°C W -stec
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BB, 1 cou 130} M,‘
% Clisseyd e sreadiay
L5 J Y h“““ﬂu by B8, it et o ARG RORRL V..
2) i] m - i,ull'l'
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f: : N e Epn ) Duodenum
4 Actinomyeasis W elTEnS i R T
g | [4) Btomach
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g R L The discase tranamittellthebugh snails is
1y Pyometra " b
{2 Endometritis (1) Sardyr o Bl
W M @ Mﬁ“‘lﬂ% s (2) Trypanosomiasis
Ik fever "
(4)  Vibrioais MMJ =8
) Db
80.: Thawing temperature of secmen straw is
( arc 90, hﬁﬁgm:&mm
2 20°C },{ e .
) 48'C @1 i
4) 46°C i
1. The hormone secreted by pitaitary gland
i 91 Dearpod piod 08 ddh el LS
g () s
21 FSH P "
(3} Pepain J”f:ﬁﬁ
(4}  Adrenaline i i
g2. The membrane surreunding the heart is 82, fd a5
(1) Pericardium ﬂ vt
{2) Fleura ﬁ;ﬂ'ﬂ
! B . @ Zodoeh
g : ) Do Somo

lr;‘

&
wmbmﬁ:ﬁ
pob &g sugpdecd
W hea
@) codrddo
3 =bcbo

=t
4. e oo TS TR
et e :
@ @Rt
m phearks
4 Sharbairin

B, THASIS Ty woE dave
i gl
o

@ pEh

) Forh
uﬁmmmmm
Rgiinte

@S peb

m gl @S

3) Ggh JEprk
gar civhy

0. Botd HE EDE dotiod

(1) _ g
So08

o e

W,



VSAHA 132} &
8. The broofing tempersture required|ps, Jooe Toof' §2 Bgof mrdof
during the first week is A 300 doed
) -y {1 60-85F
@ 70-78F 2 70-T5F
A B0 - 85F 437 80-BS'F
) 90-95F 4 80-95°F
D
B9, Debenking in chicks i done st the sge of EBOSE
(1} 1 month oy -I..Bﬂ
z ;Tm i 23ew
“ 1nd..: 3 208w
) 10 Beren
104}, The hermone responsibile for makn
af pregrancy in cows is 100. m&m&gm Fadrfoed
{1} Estregen Al i
{2)  Progestorons A0 Gyed
{3) Orytocin (2 .,-ng.s
{4)  Prolactin ) eyl
. 1] #iﬂﬂs
101. Which of the follewing is & small size
emilie brisd ¥ 100 87 SE5rTe0 Mo il =0 58
# - Dol (1} acdrs .
{2) Hallikar
{2
@) Mald o #ﬂﬁﬁ
) Pongusar by
102, The buffaly breed knows for milk ,
producticn is beh 102, 2553 305, Al el
1) Jafarabadi Ll e
(2| Nagperi 25 afapd
(¥ Surti 2y
. ) Marrah q;ﬂ’ g

1331
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‘irﬂhddi exotic cattle breed is m,'mﬂnﬁ

oS

g used for cross breeding of non-descrigh = ]
cattle in poor feed and fodder remourcn| sghsnera OSS SOTE
" reas of Andhra Pradish 7
. Eneas P -
1) Holstein-Frieslan ) SRS eha
(@) Jersey w eb
Il‘ﬂ‘ Brown Swiss .}3{ ﬂsbﬁﬂ- 4
(4) ed Dane W oE &5
104, 85 S 3 Bon3 b e B8 el
e
A BEw
@) eSaIrss
(Y] a:ﬁr'u-b
:mmmmﬂmé'mgm
L]
(1 15-30 e M
(2} 45-60 5w
_at 90— 105 Feres
(4) 120- 135 Berad
. Which is the more varisble companent of :mmmaﬂmm
- milk ? : Br o dﬁ*
% 2) Srodtyle % et
{20 Protein percent e :
{3) Fat parcent A5 e
§ @) Miseral percest W Dued %
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107. The foor spade requiremvent for a cow
under aren in loose housing

system i
(1
=
[E1]
(41

1-5 saq.m
35 sq.m
5-5 sq.m
T-5=q.m

108 The hormone reaponsible for letdown of
milk in dairy animals is

[34)

(1)  Adrenaline
(2} Progesterone
(3 Thyroxine
(4) Omxytocin

109, What is the optimum service period in a
cross-bired cow for profitable dairying 7

(1) 1 month
{21 3 months
(3} 6 months
(4} 9 monihs

Iiﬂ.ﬁﬂtmilmtpmthwhkh#lhl
Tollowing cakes 7
1) Groundeut cake
2} Sayabenan enle
137  Bunflower cake

i4)  Cotlomseed cake

111, Which of the fdllowing is o mare prolific

ment animal T
11} Shewp
121 Goal
(3 Habiin

107, orh  ohof 2508 o il i
D0cir Job doed =

(1) 1680,

2 8630

8 B6S.2.

t4) 7635

108, & ShPpos’ e SPDBNd 36
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112 Which forage | 18
devels " mire skl =
area T S POMAID Land gy 1B 3 oo 307 saney bt
(1) Wyberid Magier S BlSrelad Mugrie

T SpOE ek
{2} Mnize
(3)  Stylo Hamats L:’; MﬁE
e ‘m al:‘-‘-:ru
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"ﬂmubndm-;m::::'ﬂ ing| 13, Fipe 36, & dich Too pb 10w
(1P FD 20 Fpdsae ==
N et
N @ 8

f Al 10 i 1

TDN percent in @ cescentrate
" mixture required for high yielding dairy
g § nin :
1) &%
(2} 60%
{3 T0%
(4) B0%

116, Which of the Fellewing fodder tres

contains mimesine
(1) Sesbaria
{2) Acoca
3 Glircidia
(4} Subabul
118 The aguressive
elephants durisg
i ealied
{11 Infanticide
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117, Pullorum disense in hers is caseed by . 97 94 Ok ooe T
i1) Bacterin i1 . oy HW']“ e
b e A 2B (3) Tachypnosa @ FOET
S S s TN () Dyspnosa @ el
(4) Protezo ) e , @ A
o used amti-di in
118, Gurmbors disease fn binda ncomed by |18, 58" Pof g Siigeets SOESR 1!":':;”"’” g T Tmm St
Erorora™
{11 Baceria | " erhpa B pul Gioger i
(20 Vires @ PR s _.gpﬂ'unﬂd"ﬁ
W S sk * @ Kaalin @ FHES
i) Protozoa W e _ = o 2F6S
118, Lateral untnrud:hmhmut;ms.uauﬁ‘ s Somn o ol ESeBDS
[T ?:whw‘:‘u ok
o) ! Eets m S
02) Milk fever I —
(3} Simple indigestion i ercd ﬂ'
0y EatiyRve ) By wdahdio !
120. In ealves, ringworm is caused by ju.a.muﬁ'm:-ﬂmmﬁﬂ.b l 15, Langth of pestation period in owes is 125, FPol® dres soso Jot
g W ejoar < (13 279 days 270 B'eren
O o g e e @ 9106w
T W @d'ds () 150 days 4 160 Beoo
“121. A commesly used antipyretic in cows fs 1191, esgped’ ety Bl el . The disense transmitied through deg bite| 126 s, e O TpRets TR
(1) Sodium Biearbonata ) e PrE A in ) Su e
ke g Ao LS 2 Rascsciui B i
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127. Which of the following is used a3 ruminal
mntacid in cattle 7
(4 }]
[14]
3k
(e ]

Vieegar

Sodium Bicarbonste
Potassium Chiloride
Bodium Chlaride

128, Which of the following B an
anti-inflammatony agent 7
(1) Atropine
(2} Melodeam
(3)  Alum
(4} Ranitidine

128, The disease transmitted through
mmosquils hite in sheep in
1} Entercionemin
121 Bl Tongee
{31 Foot and Mouth diseass
{4) Rahbiss

130, What is the medicine used for the remeval
of retained placents in oows 7

{1} Tyril
(2 Afanil
(3) Replanta
(4)  Nebaloa

131, The estrus cycle period in cows ks
(1 15 days
(2) 35 days
3 21days

138)

@ |
187, mpos® el wdtd dfod ool

) oons

2 oo

3 Serbpbo TRE

A8 Ay
198, tv dof =& Do shotad®D oD

Ofiigal
() ephs
@ Derdel
a7 sl
) ocDaldS

129, Rt Eomin oo Tyhot 70
(1) Sengs

(2 B e

i momots Tg
)y Beh

130, eghod drdh S R Seess
m god
" ead
@) Bdroir
4} doeS

181 eipod ol diTedio Jod
(1 158%e

a6 Bem

21 Bleren

) 25 days

) 285 E'eres

i
& blindness
e el ki e ¥
mn A y
2 D
{3) Bcomplex
W C

138, Equipment used umm of |
‘mblk with wateris *

[UW

12 pH meter
1]

Hygrometer
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{1 5% -
@ =% (Z) 50%
o 1% 3 6%
) 1008 (4) D0
i3a Which of the following goat breed | 138 D8 =B ArEED ety Sige
produces Mohair 7 - eolfe '
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Alpine ) (3 eof-alaind
3 Anglo-Nubian
s V-]
139, Spoay
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(# Ganjam s
) Mellere F e
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{11 Protein i ¥
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147. Which of the following fodder contains
more crude protein ?

(1)
(2)
(3)
(4)

Maize
Cowpea
Hybrid Napier

Para Grass

(42) ‘ Iy
147, &o (300 SB5wBIS 0 3 (P08 Aoy
;ﬁJ';GK) gu)éﬁjﬂ}m (ahb]

(gf B, &)

e 08

3 TO& $HaHb
@) FoNG

148. What is the percentage of moisture|4g ;_;ocigfuiﬁéa (IJ"') & dodTdo B3
present in hay ? |

149.

150.

(1)
(2)
(3)
@

Dressing percent of carcass in rams is

)
(2)

3)

(4)

An abnormal cavity containing pus is

12%
20%
256%
30%

30 - 35%
50 — 52%
60 — 62%
65 — T0%

called

)
(2)

(@

(4)

Abscess
Hematoma
Cyst
Tumor

&otaood

149. "0 rglend’ SToFyd TS0,
(1) 30-35%

(2). 50 -52%
(3) 60-62%

,Bﬁ/ 65 = T0%

150. 566508 Hi5058° Dol K550 Dsootrd?
()] Eﬂi‘s&n}ﬁ;}
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